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Challenges

Question 1.Select the related word/letters/number from the given alternatives.

&2 T fahedt & § Jafd rea/ s1eRl/den & gHgl
Maharashtra:India::Texas:?

TERTE : YR :: ¢ :?
Options:

1) Canada

RATST

2) Mexico
AfeRTepr

3) Brazil
EINicH

4) USA

RS

Correct Answer: USA
Zv9.g

Candidate Answer: USA
RASAY

Question 2.Select the related word/letters/number from the given alternatives.

@ M faeredt & @ Gaf-Aa 2rea/ sreRl/TRean ot 9wl
JKQR:___ 7 ?

Options:

1) ST:UV

2) WX:ZY

3) BC:IJ

4) MN:OR
Correct Answer: BC:1J
Candidate Answer: BC:1J

Question 3.Select the related word/letters/number from the given alternatives.

&2 T oot & § dafa rea/ S1eRl/gr & gHg)
72:90:156:?

Options:

1) 184

2) 168

3) 182

4)176

Correct Answer: 182

Candidate Answer: [ NOT ANSWERED ]

Question 4.Find the odd word/letters/number pair from the given alternatives.
8 T farenedl & & farwe aree/ srer/de g gMQI

(A) Square (B) Sphere (C) Rectangle (D) Circle

(A) @t (B) Tiereh (C) st (D) gt

Options:
1HA

2)B
3)C

4)D
Correct Answer: B
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Candidate Answer: B
Question 5.Find the odd word/letters/number pair from the given alternatives.
3 T3 faeredt # @ fawH rea/ S1aR/<e g 9T
(A) AE (B) CG (C) JN (D) MO
Options:
1A
2)B
3)C

4D
Correct Answer: D
Candidate Answer: D

Question 6.Find the odd word/letters/number pair from the given alternatives.
128 T farepedl & & farwe aree/ srer/de g Mg

(A) 4-16 (B) 8-24 (C) 14-26 (D) 16-36

Options:

1HA

2)B

3)C

4)D
Correct Answer: C
Candidate Answer: D

Question 7.Arrange the following words as per order in the dictionary.
At areal @t areaenter # &g 71 A & SR [Af@g)

1. Stilt 2. Stifle 3. Stink 4. Stingy

Options:

1)3,42,1

2)1,34,2

3)2,1,43

4) 2,341
Correct Answer: 2,1,4,3
Candidate Answer: 2,1,4,3

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
f&q 7TQ 3rgeRA 7 Uk UG W &1 Q71T fachedt | € g 9@ [dene gHg ST SigehA @l g e

CLHQMV,?

Options:

1) RA

2)Qz

3)SB

4)TC
Correct Answer: RA
Candidate Answer: RA

Question 9.Which number will complete the series?
H-H} T SR Rl G A |
11,13,17,19,23,25,____

Options:

1)25

2) 27

3)29

4) 31

Correct Answer: 29
Candidate Answer: 29
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Question 10.Introducing a man, a woman said that, "He is
the son of my mother's brother's father's son." Then how
is the woman related to the man?

Uch GO T URTY 3 §U Teh St A ahgl, “dg AL AT b 918 o fUdn
o O3 AT UF 8| Fd13 I9 St oAl 39 T&Y I T G- 8 ?

Options:
1) Nephew
WATSTT

2) Brother
SIE

3) Son
kgl

4) Cousin

TR 918

Correct Answer: Cousin

T 918

Candidate Answer: Cousin

TR T3



Question 11.Ram leaves his house at 20 mins to seven in
the morning, reaches Kunal's house in 25 mins. They
finish their breakfast in another 15 mins and leave for
their office which takes another 35 minutes. At what time
do they leave Kunal's house to reach their office?

A 7 Ioi= | 20 fA9e iR R @ [Achetar g 3k 25 fAHe J gorma
h TR Ugddl gl & 15 A H U1 A1d1 WecH ohid 8 3R fhe
30 hRATeTd ok folg [kl ST1d 8| il Uga- | I8 35 MA-e
oI 8| & ShiTeTd ST <h el HUTTeT oh TR & fohd ool ket ?

Options:
1) 7:40 AM

2) 7:20 AM
3) 7:45 AM

4) 8:15 A.M
Correct Answer: 7:20 A.M
Candidate Answer: 7:20 A.M

Question 12.From the given alternative words, select the
word which cannot be formed using the letters of the
given word:

ffeiiad faenedl # & ag 2rec 9T STt AU 1T 21eg & HERT o
UINT chich gl ST SIT YehdT gl

LEGALIZATION



Options:
1) ALERT

2) ALEGATION
3) GALLANT

4) NATAL
Correct Answer: ALERT
Candidate Answer: ALERT

Question 13.1f DECEMBER is coded as EDECBMRE then
FEBRUARY will be coded as

gf¢ DECEMBER ! EDECBMRE foi=ar STTdT g, at 341 shie |
FEBRUARY @hl chg fetar Siraem 2

Options:
1) EFRBUAYR

2) EFBRAUYR
3) EFRBUARY

4) EFRBAUYR
Correct Answer: EFRBAUYR
Candidate Answer: EFRBUAYR



Question 14.If, 6x4= 12
Ax12=24

12x6= 36

then 6x9="7?

gfe, 6x4= 12,

4x12= 24,

12x6= 36 gt al

6x9= ? &l A HATd chiTeIU ?
Options:

1) 35

2) 24
3) 27

4) 31
Correct Answer: 27
Candidate Answer: 27

Question 15.If x means +, + means +, - means x and +
means -, then 8x7-8+40+2 =7

R X AT AL & +, + T AT & +, - 1 7f & x 3R + a1 7 R -,
deg 8 x 7-8+ 40 + 2 ST gITT ?



Options:
1) 1

2)

4) 44
Correct Answer:

5

Candidate Answer:

37
5

Question 16.Find the missing term in the following
guestion:-

FFTeiRad U # Jw 1 A7d ity |

10 & 9

18 14 17

28 34

20 26 32

Options:
1) 25

2) 37
3) 40

4) 57



Correct Answer: 40
Candidate Answer: 40

Question 17.Sunita travels 6 Km towards north east. Then
travels 9 Km towards west. From there, she goes 6 Km
south-west and finally goes 3 Km towards east. How far
is she from her initial position?

T 3<R-Ud <hl 31R 6 for. Ht. Terdt @ fhe ag ufga it ek 9
fop. . Tt &1 agl O ag <ferur-ufgm &t etk 6 foh 1. T<1dt &
3R 3id # gd <hl 31R 3 foh.Ht. TeIdl 81 I8 U= TRk W=
fhaft a8 ?

Options:

1) 3 Km

3 fop. .

2) 6 Km
6 fon.H.
3) 9 Km
9 fop.H.

4) 12 Km
12 foh |,

Correct Answer: 6 Km

6 fon.H.

Candidate Answer: 6 Km

6 fon.H.




Question 18.Consider the given statement/s to be true
and decide which of the given conclusions/assumptions
can definitely be drawn from the given statement.
Statement:| Some bags are pockets.

Statement:ll No pocket is a pouch.

Conclusion:| Some bags are not pouches.

Conclusion:ll Some pockets are bags.

fFafefEd ur o o a1 <t a<hed &8 T3 g, [Si9eh ST gt fAsepnl/
A=arg, | 3R || ferrat T &1 31Uen! TR &1 & foh a<hea 9
€ dTg g ITHId: 1d a1 9 f9= udid gidar gtl 3iuent fAofg
T g foh [T 70 a<heg & @ opia-a1 fAfga =0 O gg! A/
AT=dT fAehTeT ST YehdT & |

I | | B Il S g

a<hed |l ; s i Sig edt ol Bl

fsepy: | pe It Aferdi 1l 21

fAsehel: || o S Ut B

Options:

1) Only conclusion | follows

chad A~y | Aepeadr &

2) Only conclusion Il follows

chadt Aeepy || fFenerar &

3) Both conclusion | and conclusion Il follow

g1 fAaseRy | 3R 1| Reretd €1

4) Neither conclusion | nor conclusion Il follows

T8l sy | 31k 7 & fAseny || Aepetar &

Correct Answer: Both conclusion | and conclusion Il
follow

gt fAaseRy | 3R 1| Reretd €1




Candidate Answer: Only conclusion Il follows

chad fAsepd || Aeherar &

Question 19.Find the number of triangles in the figure.

&l T3 3MMepfd H feha YT 8 |

Options:
1) 8

2) 10
3) 12

4)14
Correct Answer: 14
Candidate Answer: 12

Question 20.In a group of 50 students, 25 play Hockey, 30
play Football, and 8 play neither game. What is the
number of students who play both Hockey and Football?

50 BTl chl Teh Thell H 25 BT glchl Weld g, 30 B Gl
WeTd & 3R 8 B his Wl Aol Weld 6| 39 ©FIl chl I&AT 15T
ST glchl 3R edlel &Il Weld 8 ?
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Options:
1) 10
2) 11
3) 12

4) 13
Correct Answer: 13
Candidate Answer: 13

Question 21.Which answer figure will complete the
pattern in the question figure?

hIF-8l IR SAThid U SMTpld o UTd=T hi U1 3l g ?

! ,r TN
VAN
1irh ) | | |
| [ =5 8 \|
m-H
At |/
1 :'J"/”
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Options:

1)

3)

(1)l B
X!

1

|

7

4)

B N\

Correct Answer:

O T
Y/
-

N I

H
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Question 22.From the given answer figures, select the one
in which the question figure is hidden/embedded.

&Y 773 IR SMpIadl & F I Teh 3<% HTepId ! IAY [T U
Smepfd Ffed &1

ALY

A

Options:
1)

N

I

S

J
i

L_
|

-
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Correct Answer:
|

-
| Jird

|
' !
[ L
|

=

Candidate Answer:

=
| [

|
' |
i &
|

=~/

=

Question 23.A piece of paper is folded and cut as shown
below in the question figures. From the given answer
figures, indicate how it will appear when opened.

-1 U SMTepfd H oSl SR RIS @ht ATSY hieA 3R Wi

oh 91C dg fohd IR SMTepfd ST fe@Ts & ?
%l. .\.. ,,Ii‘ , - " | '}
.\I ‘e'— Hh \ P> :[/. S JJ,/
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Options:
1)

]
i N
7o oY
T
‘o1 191®
X s/
b
| [~ il
o 1
r . |
/O 1N
dihd I
$Te L]
A Ry
hY rd
~ =11

{‘f '\“ |
PP U EY
¢
AR FUPRIL
\Co S o
N hd VAl
h Y I L#
g |

4

h Y

,
Nl
=

[ i

Candidate Answer:

P

P
L4

b
oY

f?'" LT,
\9

?_

| [ =l

-

e
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Question 24.1f a mirror is placed on the line MN, then
which of the answer figures is the right image of the given
figure?

g Teh g4 st MN T IR @1 5118 dt &Y 78 3R SMTepfadi & 9
hi=-TT STehfa U= Snepfar o1 Tt ufafees givft 2

_l ,.-A—--._f I
1A N ;
| ABmE) _’I, 4
BTSN
| h N ’f P
| i
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Options:

1)

Fd ™

Jl

Mk S ANrin
ANERViEya
|
. Ilh"\

S
AT
J
N rd
i
- ""&
P [
== oY
N, 7
| el

Correct Answer:

.

yd ™

Jl

>

Candidate Answer:

P

Fd ™
O F
N r4
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Question 25.In the question, a word is represented by only
one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two
matrices given below. The columns and rows of Matrix |
are numbered from 0 to 4 and that of Matrix Il are
numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its
coloumn,e.g., A can be represented by 02,14,40, etc., and
P can be represented by 56,75,87 etc. You have to identify
the set for the word 'TAKE'.

Fferfea uy & faeedt & QU 7TQ S=r-Tigg, 81ert & &t am
g1 &21fQ 7Y &, Sie foh i g T &t sregsl 7 81 sregg | &
A SR Uh A M0 T 4 daRr & TR 8, IR M I H 5T 9
ok, 31 HTHE! ¥ Tch 38R hi Uget IHch! Ufth 3R d1 | Twy
G gIRT GRIHT ST YehdT 8 | 341807 o folg, ‘A’ &l 02,14,40
3Mfe gRT AT ST YehdT & IAT 'P' ht 56,75,87 3fe gRT guin
ST TehdT 81 34T UhR & 31U AT 2reg 'TAKE' & oIy THg <ht
CESIGEIE

Matrix-I Matrix-11

1
0 1| 2 3 4

1 R T H A




Options:
1) 23, 21, 85,95

2) 30, 33, 87, 88
3) 04, 33, 66, 99

4) 11, 21, 85, 86
Correct Answer: 23, 21, 85, 95
Candidate Answer: 23, 21, 85, 95

Question 26.Which Governor General decided to make
English as the medium of instruction in India?

fAeafafaa 7 @ -0 g9k SR 3 R & TS hl fret e
H1egH 491 ol Aoty forar 2

Options:
1) Lord Wellesley

A2 o 2\

IS del¥el

2) Lord Hardinge

dArs grtef

3) Lord Dalhousie

Al Sagielt

4) Lord William Bentinck

drs faferaw <

Correct Answer: Lord William Bentinck
drs faferaw I

Candidate Answer: Lord William Bentinck

dre faferaw daf<a




Question 27.Who among the following is a renowned
campaigner against manual scavenging who was recently
conferred with the prestigious Magsaysay award?

FefafEa 7 @ o Ul sifvamadl 8 SsiH 819 ¥ 81 I8
o fa%eg srr<ier foha Sk 38 ufdf®a Sy Q&R & gH1iHa
fopar T ?

Options:

1) T.M. Krishna

&Y. TH. T

g) Bezwrgda Wilson

SIoTaTST [ded

3) Anshu Gupta

SIRT T

4) Sanjiv Chaturvedi

Gotla agdat

gorrect (\Answer: Bezwada Wilson

SIoTaTST [ded

Candidate Answer: T.M. Krishna

I, QH. po

Question 28.An indifference curve measures
level of satisfaction derived from different
combinations of commodity X and Y.

Teh STYAT dch, X 3R Y o faf9a Giral 9 fie arelt a=<gie <
TR <hl AU & ?




Options:
1) same
YHIH

2) higher
3T

3) lower
hH

4) minimum
L AdH

Correct Answer: same
HHTA

Candidate Answer: [ NOT ANSWERED |

Question 29.Who among the following was the first to
make use of artillery in warfare in medieval India?

HeH i< YR H AFfelRad & 9 fha- Ugell IR geg H iyt ohr
AT fepar ?

Options:

1) Babur

SIEE

2) lbrahim Lodi
3ol el

3) Sher Shah Suri
R AT T

4) Akbar

3{chd}

Correct Answer: Babur
FIEES

Candidate Answer: [ NOT ANSWERED |




Question 30.Person who is colour-blind cannot
distinguish between

quii=¢] f<h fohT T & U< T8l R UTdT & 2

Options:
1) Black and yellow

ehTel 311R Uicd

2) Red and green
ofTet 3R &Y

3) Yellow and white

Ulet 3R Hthe

4) Green and blue

e 3R et

Correct Answer: Red and green

AT 3R 8¢

Candidate Answer: Red and green

AT 3R 8¢

Question 31.During the motion of a projectile fired from
the earth surface, _____

gedf} hl Tdg & BRR fhd Y yew & 71fd & SR,




Options:
1) its kinetic energy remains constant

IYeh! ST Jotl ([RR gt &

2) its momentum remains constant
IRl HaTT AR g1 8

3) vertical component of its velocity remains constant

IYch T ol & Yceh AR IEAT &

4) horizontal component of its velocity remains constant

3IYch 2T opT &AfasT g AR Tgdar 8

Correct Answer: horizontal component of its velocity
remains constant

39ch AT T &t gceh fRAR AT e
Candidate Answer: [ NOT ANSWERED |

Question 32.Which of the following waves cannot be
polarised?

ffeiiRad & 9 opt=-dt a3l oht gfda w181 fohar ST Tepdr 2
Options:

1) Radio

AJeat

2) Ultra violet
TRTSTHT

3) Infrared
Sd<<h

4) Ultrasonic
UTH Y

Correct Answer: Ultrasonic
U1y

Candidate Answer: [ NOT ANSWERED |




Question 33.0f the following commonly used materials,
the one that is not an alloy is

I Th g4 diet [AFfeliRad ugraf # & api9-91 fAgerg
el & ?

Options:

1) Steel

Id

2) Brass
dida

3) Bronze
1T

4) Copper
GIEI

Correct Answer: Copper
GIEL

Candidate Answer: Copper
GIEI

Question 34."Himayat" is a training cum-placement
programme for unemployed youth in the State of

forg Trsg & 'fgarad ' SRISHIR gaen! & g Tes uferor g gt
hrdchH 8 ?




Options:

1) Haryana

giamomn

2) Punjab

ESIE]

3) Jammu and Kashmir
STHT-chHR

4) Himachal Pradesh
fgTeret U

Correct Answer: Jammu and Kashmir

STHI-ShHR
Candidate Answer: [ NOT ANSWERED |

Question 35."Agha Khan Cup” is associated with the
game of

3T i Y fohg Do I rEidd g ?

Options:
1) Cricket
fehdhe

2) Football
edicl

3) Lawn Tennis
SICRAED]

4) Hockey

glchl

Correct Answer: Hockey
glchl

Candidate Answer: Hockey

glchl



Question 36.Absolute Zero is defined as

"URH " ol fohd UehR uReTiNa fohar STt 8 2

Options:
1) The temperature at which all molecular motion ceases

g drgH= 99 IR 99 snfudes 1t & g STt @

2) At which water boils at 298K
O 9% 571 298 K O IeeidT &

3) At which liquid Helium boils
O IR a_ gifelad Idatdr 8
4) At which the volume becomes zero

oI IR YA+ = gl SIdr 8

Correct Answer: The temperature at which all molecular
motion ceases

g IrgH g UR g9 snfuges 1 de gt SIrdt @

Candidate Answer: The temperature at which all
molecular motion ceases

g dargH= 99 IR 99 enfudes nfa & g St @

Question 37.Nitrogen fixation is a process of

1gc ST AifirchiehuT Tah Ufehar g fSias



Options:

1) Assimilation of nitrate
A13¢< ol WTTIhRoT BT @

2) Utilisation of nitrogen gas
18IS 7199 oAl SUANT 8idT &

3) Conversion of organic nitrogen to proteins

31T {eh AT T H JUidRd gidl 8

4) Conversion of molecular nitrogen to ammonia
3Tfudeh A8 SHIfAaT & wuidikd gidt 8

Correct Answer: Conversion of organic nitrogen to
proteins

i Teh A8 IS Ui H ¥UidiRd gid &
Candidate Answer: [ NOT ANSWERED |

Question 38.Which among the following is called as 'Land
of the midnight Sun'?

Fefefaa & O ford 'ds siTth € [AsAge 99" gt Siar & ?
Options:

1) Norway

qia

2) Sweden

req

3) Denmark
STHTeh

4) France
Thig
Correct Answer: Norway

EIcH




Candidate Answer: Norway

Ard

Question 39.Among the following which one lays eggs
and does not produce young ones directly?

fEfafea § @ oia-a1 Sftg 8 a1 8 3R Ugerd: J<a e =gl
h¥dT ?

Options:

1) Echidna

QfchedT

2) Kangaroo
HITRE
3) Porcupine

4) Whale
el
Correct Answer: Echidna

QfchedT

Candidate Answer: Echidna

QfcheT

Question 40.The mountain range which divides the North
and the South India is

IR 3R A0 YR ht hi--Hl Udd AT JUch dl g ?



Options:
1) Himalayas

2) Western ghats

gt °T1e

3) Vindhyas

foreaT

4) Satpura

qdadst

Correct Answer: Vindhyas
foreT

Candidate Answer: Satpura

qddysT
Question 41.Bronze is an alloy of

opigT fohgeh! sy erg 82
Options:

1) Copper & tin

Jia 3R fea

2) Copper & zinc

JieT 3R STt

3) Copper & iron
SICIRCIESIE]

4) Iron & nickel

oTiel 3R fAehet

Correct Answer: Copper & tin
e 3R fed

Candidate Answer: Copper & zinc
Jie 3R ST



Question 42.In which of the following States is Dampa
Tiger Reserve situated?

ffefea | @ forg Isg | '<r1 TR Refd feq @ 2
Options:

1) Assam

HH

2) Karnataka
hlcch

3) Mizoram
AsTRA

4) Orissa
3T

Correct Answer: Mizoram

SIS

Candidate Answer: Assam
SHH

Question 43.Japanese folk tradition and ritual, with no
founder or single sacred scripture, is popularly known as

SITUTH] wTieh URFURT AR 8T, [STEehT hig HEATU AT his Teh
gfas o4 I= Tl &, fhg T  y=afeld & ?



Options:

1) Taoism
KGO [

2) Zoroastrianism
STIRTEATG

3) Shintoism
frctere

4) Paganism

WG

Correct Answer: Shintoism

fRrctarg

Candidate Answer: Shintoism

fRr<clare

Question 44.In IT the technique that is used to increase
the bandwidth is

3715 & H 'SefaY’ g o g foha dah-tah o 3&HTe fohar STTdT
g7

Options:

1) Memory Management

HART A4SHUE

2) Memory Interleaving

BN

3) Memory Intraleaving
BARY ggTedtia

4) Memory Leaving
TR eftfaT

Correct Answer: Memory Interleaving

AR geetifaT




Candidate Answer: Memory Intraleaving

THRY =TI

Question 45.A motion that seeks to reduce the amount of
demand presented by government to ¥ 1/-is known as

TRhR GRT UK HITT hl AT hH hizeh T 1 he Haelt UwdTd hl
T e 87
Options:

1) Disapproval of policy Cut
giferdt & srgwfd i et

2) Token cut
I Sheldl

3) Economy cut

e tRrdT endidt

{) Vote on account

SECIREEE

Correct Answer: Disapproval of policy Cut
giferdt & srgwfd i ehetdt

Candidate Answer: [ NOT ANSWERED |

Question 46.The State which produces largest number of
orchids in India is

YR ch hid T H TYehdd TG&T H 3fifche gid & ?




Options:

1) Assam

HH

2) Arunachal Pradesh
IBUTTAI TRl

3) Meghalaya
qYTerd

4) Sikkim
Afera

Correct Answer: Sikkim

afere

Candidate Answer: Sikkim

afera

Question 47 .Which one of the following bio reserves of
India is not included in the World Network of Biosphere
Reserve?

YR A AefafEd & O en=ar sia-ReTd, 'aes Acah 3h
grferaR Rerd & enfae 78t 82

Options:

1) Sunderbans

g<lddq
2) Gulf of Mannar

4R hl @ret
3) Nandadevi
EEALL])

4) Corbett
GACT




Correct Answer: Corbett

hlelc

Candidate Answer: Gulf of Mannar

4R @l @ret

Question 48.What was 'Kamagata Maru'?

"ShTHRTIET HIE" ST AT ?
Options:

1) An army unit

Qeh "iFeh giHe

2) A harbour

Uch I8

3) A ship

Th Oid

4) An industrial township

Qeh 3Nl TR

Correct Answer: A ship

Th Oid

Candidate Answer: A ship
Teh UId

Question 49.Redistribution of income in a country can be
brought about through

ferelt 321 & ST ohT gATAARUT foh UehR fohalT ST GepdT @ 2




Options:

1) Progressive taxation combined with progressive
expenditure

IR BRI 3R 1Y H IR 4

2) Progressive taxation combined with regressive
expenditure

SRR R 3R 1Y ° UATad! g

3) Regressive taxation combined with regressive
expenditure

TTed] ShI1dT 3R 1Y H TATad! ad
4) Regressive taxation combined with progressive

expenditure .
TATAd! el 3R 1Y H SRR T

Correct Answer: Progressive taxation combined with
progressive expenditure

2\ ° 2\
JTRITIR P 3R 1Y H ITRITR A

Candidate Answer: [ NOT ANSWERED |

Question 50.A motion moved by Member of Parliament
when he feels a minister has committed a breach of
privilege of the House by withholding facts of a case is
called

ST fehdl TUE e ol Ig ¥ foh fohd! H3ft A A9 oh At ot
QUT S He- h fAATIERR AT fhar §, af I9h gRT IS/ T

UETd -1 Shgdldl g ?




Options:

1) No confidence motion
TG U=

2) Censure motion

IEEARCLSIC]

3) Privilege motion
ICRLIREIEESIE!
4) Cut motion
held! UEdTa

Correct Answer: Privilege motion

fadufderr uxamE

Candidate Answer: Censure motion

IEEARCLSIC]

Question 51.1f 7 spiders make 7 webs in 7 days, then 1
spider will make 1 web in how many days ?

gfe 7 Aarfeui 7 A 7 7 S §91d €, a1 Hehst 1 STt foha=
e & st 2

Options:

1) 1

2)7/2
3) 7
4) 49

Correct Answer: /
Candidate Answer: 7



Question 52.A fan is listed at Rs. 150 with a discount of
20% . What additional discount must be offered to the
customer to bring the net price to Rs. 108 ?

Teh Uk <Rl Yelt Ged 20% hl B h F1U Rs. 150 g1 UTgeh ohl
fera=t srfafkea ©e & Sy foh e ea Rs. 108 &1 91T |
Options:

1) 111/9%

2) 15%

3) 8%

4) None of these

399 q IS gl

Correct Answer: 11 1/9%

Candidate Answer: None of these

STH 9 ohlg g

Question 53.Three numbers are intheratio1:2: 3 and
the sum of their cubes is 4500 .The smallest numbers is

9T ATl 122 2 3 o SIUTd | & 3R I °=1 Rl IIT 4500 g1
ol DI GAT T § ?

Options:

1) 4

2) 5
3) 6

4)10
Correct Answer: 5



Candidate Answer: 5

Question 54.If by selling an article for ¥ 390 a shopkeeper
gains 20%, then the cost is

gie el I¥g T 390 H oI UR GhIGR bt 20% hT @14 gIdT 8, ot
IGchI AN FT & ?

Options:
1) % 370

2) ¥ 325
3) ¥ 350

4) % 300
Correct Answer: ¥ 325
Candidate Answer: ¥ 325

Question 55.There is a 4% increase in volume when a
liquid freezes to its solid state. The percentage decrease
when solid melts to liquid again, is

TSl Thlg el SUAT S AT H STH STdT § df IGech - H
4% ! gieg Y STl g1 31 o a1uy el | fUee W 3aa- #
ferert gfc=rd ept givit 2




Options:
1)

2) 4%
3)

4= %
13

4)

AL
3—%
13

Correct Answer:

AL
3= %
13

Candidate Answer:

2L
3—%
13

Question 56.A man travelled a distance of 61 km. in 9
hours, partly by walking at speed of 4 km / hr and partly
on bicycle at speed of 9 km / hr. The distance covered by
walking is

Uch cf<h = 3Tk TU T 4 fop. HY./90eT foh TR deet Ieiehs
371} 37ifReh =0 & 9 foh. HY./90eT Tr5fchel UR Iciche 9 HUE H 61
fch. Y. <hl ATAT G b1 | UceT TeTch fohd=l G T <hl 715 ?
Options:

1) 16 Km

16 foh. 4.

2) 12 Km
12 for =Y.

3) 15Km
15 for =,

4) 17 Km
17 for =,




Correct Answer: 16 Km

16 foh =,

Candidate Answer: 16 Km

16 for |,

Question 57.The rate of simple interest per annum at
which a sum of money double itself in 16%4 yrs. is

GIERUT ST <hi g dTfNeh &R o7 gt oIy ahis 1T 1624 a9
o AT gt STt 2

Options:

1) 4%

2) 5%

3) 6%

4)

Correct Answer: 6%
Candidate Answer: 6%

Question 58.If a+ b+ ¢ = 0, then the value of a3 + b3+ ¢3
IS

gida+b+c=0,d a%+ b3 + ¢3 T AF T HIfST ?



Options:
1) abc

2) 2abc
3) 3abc

4)0
Correct Answer: 3abc
Candidate Answer: 3abc

Question 59.

i -1 2 -2
The valueof (xz + x= )(xs—1+x73)is

(xs+x73 ) (xa—1+ x= )T AT R & ?
Options:

1)

X' +x 3

2)1

X+X3

3)

X3+ X1

4)

X+ X1

Correct Answer:
X7+ X1

Candidate Answer: [ NOT ANSWERED |



Question 60.In AABC, DE Il AC. Where D and E are two
points lying on AB and BC respectively . If AB =5 cm and
AD =3 cm,thenBE:ECis

AABC # DE Il AC &1 399 D 3R E shHST: AB 3R BC f¥d gt
fegglafc AB=53dH. IRAD=3H4.#. AIBE: ECRITg?
Options:

1) 2:3

2) 3:2
3) 5:3

4) 3:5
Correct Answer: 2:3
Candidate Answer: 2:3

Question 61.PT is a tangent to a circle with centre O and
radius 6 cm . If PT is 8 cm then length of OP is

PT, Teh ged fI¥ehT hest O 3R a1 6 |41, 8§, <hl =i @1 8|
gf¢ PT 8 9.5, g1, at OP &t owarg fohat givft 2

Options:

1) 10 cm

10 9.4

2) 12 cm
12 A,

3) 16 cm
16 9.4,
4) 9 cm
9 9.Hl.




Download More Papers From www.GovtJobsAlert.In
Correct Answer: 10 cm

10 9.4t

Candidate Answer: 10 cm

10 G.H.

Question 62.

4 3sinf + 2cosf
If tan@ = 3 then the value of [

———— is
3sinf — 2cosf

4 3sinf + 2cos#
i tan@ =—, | —————— HIHA fHaTgr?
3 3sinf — 2cosf

Options:
1) 1/2

2)

3) 3
4) -3

Correct Answer: 3
Candidate Answer: 3

Download More Papers From www.GovtJobsAlert.In



Question 63.In a school, 391 boys and 323 girls have
been divided into the largest possible equal classes, so
that each class of boys humbers the same as each class
of girls . What is the number of classes ?

Uah faarmera | 391 TTSah! 3R 323 TTsfchal ol U yd 9ad
gl gu et J faurfaia fohar mar g Sad a1Sa! &l T
heTT hl GT TTSfchdl hl Tich ThelT oh SRTaR &1 13| ShefTail hi
g7 fehdHi g 2

Options:

1) 23

2) 19
3) 44

4) 17
Correct Answer: 17/
Candidate Answer: [ NOT ANSWERED |

Question 64.The average temperature of Monday,
Tuesday, Wednesday and Thursday is 60°, The average
for Tuesday, Wednesday, Thursday and Friday is 63°; If
the ratio of temperature for Monday and Friday is 21 : 25,
then what is the temperature of Friday ?

AR, AR, JYIR 3R JgeiddR T 3Ed dT9H 60° 8 |
TR, JUIR, JedaR 3R hdR hl I dTIH 63° 8|
gfe TR 3R EhaR & dTGHT ohl 31IUTd 21 : 25 8 af hdR

ehT dTUHTE SRIT & ?




Options:
1) 70°

2) 73°
3) 75°

4)78°
Correct Answer: /5°
Candidate Answer: 75°

Question 65.

If,L+L -_L_ thenthevalue of p*-d®is
p q p+q

Options:
1) p-q

2) pq
3) 1

4)0
Correct Answer: 0
Candidate Answer: 0



Question 66.1f x = 93,y = 93, z = 94 then the value of x? -
y2 + 10xz + 10yz is

gfe x=93,y=93,2=94 dt x2 - y2+ 10xz + 10yz HT A FT & ?

Options:
1) 104784

2) 147840
3) 174840

4) 184740
Correct Answer: 174840
Candidate Answer: 174840

Question 67.D, E, F are the mid - points of the sides BC,
CA and AB respectively of a AABC . Then the ratio of the
areas of A DEF and AABC is

D,E,F Tk f97sT ABC <hl ¥{wi131i BC, CA 3R AB oh shHST: el
fe=¢ 8, al ADEF 3R AABC ok &Fthell chT ST<IUTd <RIT §ITT ?

Options:
1) 1/2

2) 1/4
3) 1/8

4)1/16
Correct Answer: 1/4



Candidate Answer: 1/4

Question 68.A circle has its centre at O . A tangent drawn
from a point P, which is situated outside the circle,
touches the circle at A. If PA =4 cm & PO=5 cm, then the
length of the radius of the circle is

Gk Jd &l chvg O € | gd oh dTex [ fog P 9 Teh sl 3@
@it 78 § ST gd bl A IR Wl ot 81 afe PA = 4 9.HL.3MR PO
= 5 9.7 at ga &I Hear Fi S fohd-t g ?

Options:

1) 1cm

184

2) 2cm

2 3.4t

3)3cm

3 a4t

4) 4 cm

49 H.

Correct Answer: 3 cm

3 9.Hl.

Candidate Answer: 3 cm

3 9.4

Question 69.If sec (4x - 50°) = cosec(50° - x), Then the
value of x is

afe sec (4x - 50°) = cosec(50° - x), I X RIHAH T8 ?



Options:
1) 45°

2) 90°
3) 30°

4) 60°
Correct Answer: 30°
Candidate Answer: 30°

Question 70.An inverted conical shaped vessel is filled
with water to its brim. The height of the vessel is 8 cm
and radius of the open end is 5 cm . When a few solid
spherical metallic balls each of radius %2 cm are dropped
in the vessel, 25% water is overflowed. The number of
balls is:

ek Il QIIThR T UTHT ¥ elTeld W1 §31T g1 - hl TS
8 .41 g 3R Wet AR kI A 5 .41, 81 afe v 4.1, Har ara
S S el - H STet SITd 8 df 25% UTHT d1gR Hchel ST 8|
Tl <hl T fohaAT g 2

Options:

1) 100

2) 400
3) 200

4) 150
Correct Answer: 100



Candidate Answer: 100

Question 71.The shadow of a tower when the angle of
elevation of the sun is 45°, is found to be 10 m longer
than when it was 60° . The height of the tower is

Qeh <R <hl BT, STd YU AT I~IdiT 45° 10 Hi. 7wt gidt & It
claR hl BT T ST I=dILT 60° BT g1 2laR hl SHATs fohdHl g ?
Options:

1) 5%3-1) m

5(v3-1)#.

2) 5(v3+1)m

5(v3 + 1) Ht.

3) 10 (v3- 1) m

10 (v¥3 - 1) #t.

4)10 (V3 +1) m

10 (V3 + 1) Ht.

Correct Answer: 5(v3+1)m

5(v3+1) =t

Candidate Answer: 10 (Vv3-1) m
10 (V3 - 1) #.




Question 72.The following pie diagram gives the marks
scored by a student in different subjects- English, Hindi
mathematics, science and social science in an
examination . Assuming that the total marks obtained for
the examination are 540, answer the question

FAfmfafad uE aré d ta 8= gr1 fafa= fauay - sish, fig=<t,
Tford, fasm otk amTfSieh fasma & Ut 3iehl ot gifar mar g
AT foh Uie & et UTtdich 540 &, I8 ATd g4 AT & uset o
IR fefSrd |

The marks scored is English, Science and Social science
exceed the marks scored in Hindi and Mathematics by

TS, fasma ek g fasm | e siek fa=<at stk fta #
gTed 3iehl & feha= 31fder § 2

Options:

1) 10%

2)

10
9/7:1

3)11%
4)

'llg/u



Correct Answer:

1125
9 (1]

Candidate Answer: [ NOT ANSWERED |

Question 73.The following pie diagram gives the marks
scored by a student in different subjects- English, Hindi,
mathematics, science and social science in an
examination . Assuming that the total marks obtained for
the examination are 540, answer the question

Ffmfafad us oré 4§ ta 8= gr1 fafa= fauay - sish, fiB=<t,
Tford, fasme ok IS fas= & Ut Sichl vt gifar mar g
AT foh URieT & et UTtdich 540 8, I8 HId g4 A & uset o
IR feford |

The subject in which the student scored 105 marks is

B A fhy fawa § 105 3fen 9T fohy 2



Options:
1) English

2) Hindi
fo=t

3) Mathematics
I

4) Science

CHIGI

Correct Answer: Hindi

Candidate Answer: Hindi

fo=t



Question 74.The following pie diagram gives the marks
scored by a student in different subjects- English, Hindi
mathematics, science and social science in an
examination . Assuming that the total marks obtained for
the examination are 540, answer the question

FAfmfafad uE aré d ta 8= gr1 fafa= fauay - sish, fig=<t,
Tford, fasm otk amTfSieh fasma & Ut 3iehl ot gifar mar g
AT foh Uie & et UTtdich 540 &, I8 ATd g4 AT & uset o
IR fefSrd |

The difference of marks between English and Science is
the same as between

qa- g ?



Options:
1) Science and English

CRIGRGICES DS

2) Hindi and Social science
fg=<t ik groien o=

3) English and Hindi
TS 3R fg=t

4) Mathematics and Social science

forg ok gmTSies fagm™

Correct Answer: Mathematics and Social science

forg ok gmTies fagm™

Candidate Answer: Science and English

ICRIGRSICESDNL



Question 75.The following pie diagram gives the marks
scored by a student in different subjects- English, Hindi,
mathematics, science and social science in an
examination . Assuming that the total marks obtained for
the examination are 540, answer the question

FAfAfafad uE aré 4§ ta 8= gr1 fafa—= fauay - sitsh, =<,
Tforg, fas SR gHIfSieh a3 & UTe 3iechi ! 1T 1T &1
AT foh Uie & et UTtdich 540 8, I8 ATd g4 AT & Ut o
IR fefSrd |

The marks scored in Hindi and Mathematics exceed the
marks scored in English and Social science by

fg=<Y ofik 7iforg & ura Sieh 3iUsht 3fiR gmfoies fasm d urd
3fehi I fohdd s1fdeh 8 ?

Options:

1) 30

2) 40
3) 60

4) 75



Correct Answer: 60
Candidate Answer: [ NOT ANSWERED |

Question 76.In the following question, out of the four
alternatives, choose the word which best expresses the
meaning of the given word and click the button
corresponding to it.

INNOCUOUS
Options:

1) INNOCENT
2) INNOVATIVE
3) INOFFENSIVE
4) INNERMOST

Correct Answer: INOFFENSIVE
Candidate Answer: [ NOT ANSWERED |

Question 77.In the following question, out of the four
alternatives, choose the word which is opposite in
meaning to the given word and click the button
corresponding to it.

INFIRM

Options:

1) STRONG

2) WEAK

3) SUPPORTER

4) BELIEVER

Correct Answer: STRONG

Candidate Answer: STRONG



Question 78.Four words are given, out of which only one
word is spelt correctly. Choose the correctly spelt word
and click the button corresponding to it.

Options:

1) Correspondent

2) Correspondant

3) Correspendent

4) Corespondent

Correct Answer: Correspondent

Candidate Answer: Correspondent

Question 79.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

Computers give us (A) / the easier access (B) / to
information. (C) / No Error (D)

Options:

1) A

2) B

3)C

4)D

Correct Answer: B

Candidate Answer: B



Question 80.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

| don't have (A) / any money to (B) / spend for luxuries.
(C) / No Error (D)

Options:

1) A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: B

Question 81.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

| was first (A) /1o reach the school (B) / today (C) / No
Error (D)

Options:

1) A

2) B

3)C

4)D

Correct Answer: A

Candidate Answer: A



Question 82.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

The President will finally have a national memorial _____
his honour.

Options:

1) at

2) upon

3)in

4) on

Correct Answer: in

Candidate Answer: in

Question 83.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

Cultural _____is very important in international business.
Options:

1) sensibility

2) sensitivity

3) smartness

4) susceptibility

Correct Answer: sensitivity

Candidate Answer: sensibility



Question 84.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
toit.

We should first collect the funds and then ____ action.
Options:

1) plunge into

2) plunge onto

3) plunge at

4) plunge in

Correct Answer: plunge into

Candidate Answer: plunge into

Question 85.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

Held up

Options:

1) Kidnapped

2) Delayed

3) Caught

4) Nabbed

Correct Answer: Delayed
Candidate Answer: Delayed



Question 86.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

To play fast and loose

Options:

1) To be narrow minded

2) To play a good game

3) To act in an unreliable way

4) To defeat a person

Correct Answer: To act in an unreliable way

Candidate Answer: To act in an unreliable way

Question 87.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

Feather one's own nest

Options:

1) Decorate

2) Work hard at home

3) build a home

4) make money in an improper way

Correct Answer: make money in an improper way
Candidate Answer: make money in an improper way



Question 88.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

The act of killing a king
Options:

1) Regicide

2) Regalcide

3) Genocide

4) Homicide

Correct Answer: Regicide
Candidate Answer: Regicide

Question 89.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

Emission of light or heat from a central point
Options:

1) Rays

2) Refraction

3) Reflection

4) Radiation

Correct Answer: Radiation

Candidate Answer: Radiation

Question 90.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

That which cannot be believed



Options:

1) Awesome

2) Incredible

3) Credible

4) Ineffective

Correct Answer: Incredible

Candidate Answer: Incredible

Question 91.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

| tried to cane her, but of no purpose.
Options:

1) for

2) with

3) to

4) No improvement

Correct Answer: 10

Candidate Answer: for



Question 92.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

The soldier mentioned that they had to pay a
consideration of fifty pounds with accordance in the
contract we signed.

Options:

1) by accordance with

2) in accordance with

3) with accordance to

4) No improvement

Correct Answer: in accordance with

Candidate Answer: in accordance with

Question 93.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

Pankaj couldn't have seen us or he will have waved.
Options:

1) may

2) would have

3) should have

4) No improvement

Correct Answer: would have




Candidate Answer: would have

Question 94.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

Elephants live in groups in the jungle.
Options:

1) crowds

2) herds

3) hoards

4) No improvement

Correct Answer: herds

Candidate Answer: hoards

Question 95.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

Taking the test, the teacher gave me a passing grade.
Options:

1) After | took the test

2) After taking the test

3) As | took the test

4) No improvement



Correct Answer: After | took the test
Candidate Answer: After | took the test

Question 96.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Reporters and city officials gathered at a Chicago railroad
station one afternoon in 1953. The person they were
meeting was the 1952 Nobel Peace Prize winner. A few
minutes after the train came to a stop, a giant of a man -
six feet four inches - with bushy hair and a large
moustache stepped out from the train. Cameras flashed.
City officials approached him with hands outstretched.
Various people began telling him how honoured they were
to meet him.

The man politely thanked them and then, looking over
their heads, asked if he could be excused for a moment.
He quickly walked through the crowd until he reached the
side of an elderly black woman who was struggling with
two large suitcases. He picked up the bags with a smile,
escorted the woman to a bus. After helping her aboard, he
wished her a safe journey. As he returned to the greeting
party he apologized, "Sorry to have kept you waiting." Not
many whites would have done what he did.

The man was Dr. Albert Schweitzer, the famous
missionary doctor who had spent his life helping the poor
in Africa. In response to Dr. Schweitzer's action, one
member of the reception committee said with great



admiration to the reporter standing next to him, "That's
the first time | ever saw a sermon walking."

Dr. Albert Schweitzer was the winner of the _____.
Options:

1) Nobel Prize in 1952 for Medicine

2) Nobel Prize in 1952 for Peace

3) Nobel Prize in 1952 for Chemistry

4) Nobel Prize in 1953 for Peace

Correct Answer: Nobel Prize in 1952 for Peace

Candidate Answer: Nobel Prize in 1952 for Peace

Question 97.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Reporters and city officials gathered at a Chicago railroad
station one afternoon in 1953. The person they were
meeting was the 1952 Nobel Peace Prize winner. A few
minutes after the train came to a stop, a giant of a man -
six feet four inches - with bushy hair and a large
moustache stepped out from the train. Cameras flashed.
City officials approached him with hands outstretched.
Various people began telling him how honoured they were
to meet him.

The man politely thanked them and then, looking over
their heads, asked if he could be excused for a moment.
He quickly walked through the crowd until he reached the
side of an elderly black woman who was struggling with
two large suitcases. He picked up the bags with a smile,



escorted the woman to a bus. After helping her aboard, he
wished her a safe journey. As he returned to the greeting
party he apologized, "Sorry to have kept you waiting." Not
many whites would have done what he did.

The man was Dr. Albert Schweitzer, the famous
missionary doctor who had spent his life helping the poor
in Africa. In response to Dr. Schweitzer's action, one
member of the reception committee said with great
admiration to the reporter standing next to him, "That's
the first time | ever saw a sermon walking."

Dr. Albert delighted _____.

Options:

1) in being helped by others

2) in not being honoured

3) in being honoured

4) in helping others

Correct Answer: in helping others
Candidate Answer: in helping others

Question 98.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Reporters and city officials gathered at a Chicago railroad
station one afternoon in 1953. The person they were
meeting was the 1952 Nobel Peace Prize winner. A few
minutes after the train came to a stop, a giant of a man -
six feet four inches - with bushy hair and a large
moustache stepped out from the train. Cameras flashed.



City officials approached him with hands outstretched.
Various people began telling him how honoured they were
to meet him.

The man politely thanked them and then, looking over
their heads, asked if he could be excused for a moment.
He quickly walked through the crowd until he reached the
side of an elderly black woman who was struggling with
two large suitcases. He picked up the bags with a smile,
escorted the woman to a bus. After helping her aboard, he
wished her a safe journey. As he returnedto the greeting
party he apologized, "Sorry to have kept you waiting." Not
many whites would have done what he did.

The man was Dr. Albert Schweitzer, the famous
missionary doctor who had spent his life helping the poor
in Africa. In response to Dr. Schweitzer's action, one
member of the reception committee said with great
admiration to the reporter standing next to him, "That's
the first time | ever saw a sermon walking."

Dr. Albert Schweitzer _____.

Options:

1) was not prejudiced against Whites

2) was not prejudiced against Blacks

3) was prejudiced against Whites

4) was prejudiced against Blacks

Correct Answer: was not prejudiced against Blacks
Candidate Answer: was not prejudiced against Blacks

Question 99.A passage is given with 5 questions
following it. Read the passage carefully and choose the



best answer to each question out of the four alternatives
and click the button corresponding to it.

Reporters and city officials gathered at a Chicago railroad
station one afternoon in 1953. The person they were
meeting was the 1952 Nobel Peace Prize winner. A few
minutes after the train came to a stop, a giant of a man -
six feet four inches - with bushy hair and a large
moustache stepped out from the train. Cameras flashed.
City officials approached him with hands outstretched.
Various people began telling him how honoured they were
to meet him.

The man politely thanked them and then, looking over
their heads, asked if he could be excused for a moment.
He quickly walked through the crowd until he reached the
side of an elderly black woman who was struggling with
two large suitcases. He picked up the bags with a smile,
escorted the woman to a bus. After helping her aboard, he
wished her a safe journey. As he returned to the greeting
party he apologized, "Sorry to have kept you waiting." Not
many whites'would have done what he did.

The man was Dr. Albert Schweitzer, the famous
missionary doctor who had spent his life helping the poor
in Africa. In response to Dr. Schweitzer's action, one
member of the reception committee said with great
admiration to the reporter standing next to him, "That's
the first time | ever saw a sermon walking."

Dr. Albert was _____ person.



Options:

1) a generous and friendly

2) a proud

3) a timid

4) a kind and helpful

Correct Answer: a kind and helpful

Candidate Answer: a kind and helpful

Question 100.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Reporters and city officials gathered at a Chicago railroad
station one afternoon in 1953. The person they were
meeting was the 1952 Nobel Peace Prize winner. A few
minutes after the train came to a stop, a giant of a man -
six feet four inches - with bushy hair and a large
moustache stepped out from the train. Cameras flashed.
City officials approached him with hands outstretched.
Various people began telling him how honoured they were
to meet him.

The man politely thanked them and then, looking over
their heads, asked if he could be excused for a moment.
He quickly walked through the crowd until he reached the
side of an elderly black woman who was struggling with
two large suitcases. He picked up the bags with a smile,
escorted the woman to a bus. After helping her aboard, he
wished her a safe journey. As he returned to the greeting
party he apologized, "Sorry to have kept you waiting." Not
many whites would have done what he did.



The man was Dr. Albert Schweitzer, the famous
missionary doctor who had spent his life helping the poor
in Africa. In response to Dr. Schweitzer's action, one
member of the reception committee said with great
admiration to the reporter standing next to him, "That's
the first time | ever saw a sermon walking."

Dr. Albert preferred to let his actions ____.
Options:

1) speak louder than his words

2) be admired

3) be advertised

4) be written about

Correct Answer: speak louder than his words
Candidate Answer: speak louder than his words



